Human activity has had a negative impact on plants and animals around the world. Some people think
that this cannot be changed, while others believe actions can be taken to bring about a change. Discuss
both sides of the argument and give your opinion.

New-a-days-Nowaday’s deforestation, pollution and food waste are creating a lot of problems te-for
plants and animal kingdom all around the world. It is argued by some that this process may not be
stopped, while; others believe that by taking some precautions this situation can be changed. [a new
sentence is needed here]; in-My-epinion [not needed as you next say “I believe”], | believe that despite
there being extinction of species caused by human activities-but [you can not have this because of
“despite” in the previous clause], it is better to take some steps en-in order to have mutual benefits.

[the last sentence of the instruction should make it clearer that the essay is not only about YOUR
opinion but also the two sides of the argument]

It is often argued that the process human acts [something is wrong here] cannot be stopped to fulfill his
or her basic needs. Every human being in this world gets shelter and food through plants and animals
but because of increased activities their population is tremendously declining. For instance, a recent
study conducted by the national biological survey of India revealed that 90% of tigers in forests got
extinct due to unstoppable human movements [don’t put in specific percentages...and | suggest you do
not make-up fake research...| absolutely detest it when students do this!]. The human race cannot
survive Being-without depending on plants and animals-huranrace-cannotsurvive.

On the other hand, by making some good protocols we can overcome this negative problem and have
more benefits. Using public transport instead of private vehicles can minimize the effect of pollution and
as a result use of fossil fuels will decrease and global warming can be minimized [you need to more
clearly point out how this benefits the plants and animals]. Additionally, using alternative sources
instead of wood can also fix the problem of deforestation. [this example does not illustrate ANYTHING
about using less wood...coal is not wood]For example, recently the USA started using ef-green energy
instead of using coal for generating electricity, they replaced solar cells and wind for producing power.
By strictly following these steps humans can have more benefits without disturbing biodiversity. [how?
You need to be clearer...plants and animals are not being burnt to make power so how does it help
them?

In conclusion, although continuous exploitation by humans to fulfill basic needs is highly atrocious and
resulting in extinction of plants and animals-but [you can not have this because of “although” in the
previous clause], by takinrg-making some changes like using alternate sources and by using less ameunt
effossil fuels there will be mutual benefits and the biodiversity can be balanced.

Where exactly is your opinion? This is unclear and will negative influence your score for Task Response
and Cohesion and Coherence



Estimated

Grade
Task 6 v'250 -320 words
Response
v all part of the topic are responded to well
¥ all parts of the question are responded to well
It is challenging to see where your opinion is besides the introduction
v'main ideas are clear
v¥[Xlexplanation/examples of main ideas are clear
The three main Types of essays
Cohesion 6 v'good overall structure
and
Coherence

Xlthe first paragraph clearly introduces the essay

[the last sentence of the instruction should make it clearer that the essay is not
only about YOUR opinion but also the two sides of the argument]

¥'topic sentences introduce paragraphs well

¥'paragraphs focus on a single idea

¥'logical paragraph development



http://www.ieltsanswers.com/ielts-writing-types-essays.html

¥'linking phrases are used well

Structures for the The three main Types of essays

Linking words

Vocabulary 7 v'appropriate word choices

v'control of word endings/forms

v'repetition is avoided

¥'spelling is correct

v'vocabulary includes high level language
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Grammar 6-7 ¥ articles (a, an, the)

Xlsentence structures are correct

but [you can not have this because of “although” in the previous clause]

¥'a variety of sentence structures are used

¥'punctuation is correct
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Overall

6.5

1. Your introduction needs to make it clearer that the essay is about
YOUR opinion but also the two sides of the argument
2. development of your main ideas is weak in paragraph 3

3. you have failed to convince me how the negative activities can be stopped
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